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[#HH]:
3

" D3' = MN3;=2.5%x21=52.5
| tands = N3/Ny=21/26=0.808
. G3=tan™'(0.808) ~38.928°
D3 =D3'+2M cos8; _
=52.5+2X%2.5Xc0s38.928 K34 |k

HHEAK
=56.389 k¥ | A |[A=MN/(2sind;)=D,2 sind;)= D;/(2 sinby)
A =D;3'/(2 sinf) B M [M=D,/N|=D,/N,
=52.5/(25in38.928) & # N |N;=D//M IN2=D;/M
=41.777 g Hk [Hk =M= A tan
Hk = M=2.5 3 AR Hf |Hf=1.25M = A tan 8"
Hf = 1.25M=1.25x2.5 nlls | DD TN Dy = MY,
] sS4 D |D;=D;+2M cosb, D, =D,+2M cosb,
:3.12_;5 ) Ny 6 [tan0;=N,/N, tanfy = Na/N;
| B = tan _lHk/A—3 424 HZ(EVA | £ |tanf =LA
B'= tan” HifA=4.278° WARCR)A | B |tan B'= HIA
B=0:+8 BR(ABEA | g |a1=6,+8 g22=0+8
=38.928°+3.424° ER(RE%EA | h |hy=6,-p" h,=0,-8"'
=42.352° A 6,16,
hs = 65 - B'=38.928°-4.278°=34.650°
4

Dy’ = MN4=2.5%26=65
tan6s = N4/N3=26/21=1.238 . H,=tan" (1.238) =51.072°
D4 = D4+2M c086,=65+2x2.5%c0s51.072=68.152
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A = Dyg/(2 sinfs)=65/(2sin51.072)=41.777

Hk =M=2.5 Hf=1.25M=1.25%2.5=3.125

A= tan"' Hk/A=3.424° B'= tan” Hf/A=4.278°
g4 = 04+ B =51.072°+3.424°=54.496°
() X2 % BRILHE

[B4a]: 43 BB 25> H% 23> DRE=9 #4: HH2M
[+t %] :

# 3

-+ Dy’ = MN3=2.5%23=57.5 tandy= N3/N4=23/24=0.958
D; =D;3+2M c080:=57.5+2x2.5%c0s43.781=56.389

A = D5'/(2 sinf3)=57.5/(2sin43.781)=41.552

Hk = M=2.5 Hf = 1.25M=1.25%2.5=3.125

B = tan' HK/A=3.443°  fB'= tan™ Hf/A=4.301°

g3 =03 + §=43.781°+4.301°=42.224°

hs = 65 - B'=43.781-4.301°=39.480°

# 4

o+ Do = MN4=2.5%24=60  tan0,= N4/N3=24/23=1.043
Dy = Dy'+2M c086,=60+2x2.5%c0s46.219=63.460

A = D4'/(2 sinf4)=60/(2sin46.219)= 41.552

Hk =M=2.5 Hf = 1.25M=1.25x2.5=3.125

B = tan"' Hk/A=3.443°  B'= tan™' Hf/A=4.301°

g4 = 04 + B =46.219°+3.443°=49.662°

hy =04 - B'=46.219°-4.301°=41.918°

hs = 04 - B'=51.072°-4.278°=46.794°

. O;=tan"'(0.958) =~43.781°

. 0, =tan"'(1.043) ~46.219°
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